

	VERIFY.FIGS.US Date: January 14, 2025				
Seller (Exporter) Healthy Green Life Corporation	Transport Tyj Vessel	De	Port of Loadi		
43 Corporate Park Irvine CA USA	Destination Country China		X / / L/ / / NS X/ / K/ / L	Destination Port TianjinXingang	
Consignee	Export Date 2024-12-10		Exporting Car N/A	rier	
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permi N/A	t Number	Bill of Lading 4014107222		
INNER MONGOLIA, 011500 China	Owner or Age N/A	ent	Forwarding A N/A	gent	
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1,560bales Total: 660.896mt				
Description (May include notes on Quantity, Item Number, Marks and Numbe	rs, Kind of Package	s.)	Weight	Country of Origin	
Alfalfa Hay			22.235mt	United States	
Marks: EMCU8676215 52bales					
Alfalfa Hay Marks: EMCU8937535 52bales			22.825mt	United States	
			21.627mt	United States	
Alfalfa Hay Marks: EITU9288150 52bales			21.627111	United States	
Alfalfa Hay Marks: EGHU9273863 52bales			22.408mt	United States	
Alfalfa Hay Marks: TXGU5793121 52bales			22.689mt	United States	
Alfalfa Hay Marks: EGHU9389597 52bales			22.562mt	United States	
Alfalfa Hay Marks: TGBU7747523 52bales			22.335mt	United States	
Name of Authorized Trade Association		applicable in the country(ies) to the -The information in this certificate a accurate, true and complete. -The Applicant undertakes to advisi Certificate (or to whom the Certific of any inaccuracy, omission or char -The Applicant will maintain, and pr truth, accuracy and completeness of -In consideration for the GIC's issue	nate in the country(ies) specifi se goods. and in any documents provide: de GIC and any other person(s) ate is provided to with the kno rge in such information, or in t esent upon request, such doc f this certificate and accomp nece of this Certificate, the Ap ponnection with the issuance o made against GIC in connecti	ied above and comply with the rules of origin d to the Greater Irvine Chamber ("GIC") is to whom the applicant provides this wiedge of the Applicant) promptly in writing he origin of goods. umentation as is necessary to verify the anying documents. Dicant agrees to release, discharge and hold f this certificate and to indemnify GIC in on herewith.	



TO VALIDATE, GO TO Certificate Number : GI-COO-56086-6786a09aca231 VERIFY.FTGS.US Date : January 14, 2025

	VERIFY.FIGS.US Date: January 14, 2025					
Seller (Exporter) Healthy Green Life Corporation	Transport Typ Vessel	pe		Port of Loading LOS ANGELES		
43 Corporate Park Irvine CA USA	Destination Country China		X / / /// / / XXXXX / ////	Destination Port TianjinXingang		
Consignee	Export Date 2024-12-10		Exporting Ca N/A	Exporting Carrier N/A		
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permi N/A	it Number	Bill of Lading 4014107222			
INNER MONGOLIA, 011500 China	Owner or Age N/A	ent	Forwarding A N/A	gent		
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1,560bales Total: 660.896mt					
Description (May include notes on Quantity, Item Number, Marks and Numbe	ers. Kind of Package	es.)	Weight	Country of Origin		
Alfalfa Hay			22.934mt	United States		
Marks: EMCU8963853 52bales Alfalfa Hay Marks: EITU9246690 52bales			22.226mt	United States		
Alfalfa Hay Marks: TRHU5648660 52bales			22.017mt	United States		
Alfalfa Hay Marks: TRHU6985881 52bales			22.008mt	United States		
Alfalfa Hay Marks: TCKU6099416 52bales			21.999mt	United States		
Alfalfa Hay Marks: EGHU9854488 52bales			21.818mt	United States		
Alfalfa Hay Marks: EISU8279782 52bales			21.283mt	United States		
Name of Authorized Trade Association		 The above-mentioned goods origi applicable in the country(ies) to the -The information in this certificate accurate, true and complete. The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or chai -The Applicant will maintain, and pi truth, accuracy and completeness of -In consideration for the GIC's issue 	nate in the country(ies) specifies goods. and in any documents provide e GIC and any other person(s) ate is provided to with the knc nge in such information, or in esent upon request, such doc of this certificate and accomp ance of this Certificate, the Ap onnection with the issuance o made against GIC in connect	umentation as is necessary to verify the anying documents. plicant agrees to release, discharge and hold f this certificate and to indemnify GIC in ion herewith.		



Authorized Signature Farhad Ghorbani Fard

CERTIFICATE OF ORIGIN ORIGINAL

	VERIFY.FIGS.US Date: January 14, 2025				
Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel		Port of Loading LOS ANGELES		
Irvine CA USA	Destination Country China	Destination TianjinXing			
	Export Date 2024-12-10	Exporting C N/A	arrier		
Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permit Number N/A	Bill of Ladir 40141072			
INNER MONGOLIA, 011500 China	Owner or Agent N/A	Forwarding N/A	Agent		
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1,560bales Total: 660.896mt				
Description (May include notes on Quantity, Item Number, Marks and Numbe	rs, Kind of Packages.)	Weight	Country of Origin		
Alfalfa Hay		21.999mt	United States		
Marks: TRHU5112701 52bales					
Alfalfa Hay		21.664mt	United States		
Marks: TXGU7390300 52bales					
Alfalfa Hay		22.017mt	United States		
Marks: GAOU6253687 52bales					
Alfalfa Hay Marks: EITU9424976 52bales		22.344mt	United States		
Alfalfa Hay Marks: FSCU7120270 52bales		22.145mt	United States		
Alfalfa Hay Marks: CAAU5406780 52bales		21.881mt	United States		
Alfalfa Hay Marks: EMCU1595683 52bales		21.156mt	United States		
Name of Authorized Trade Association	- The above-mention applicable in the cou The information in th accurate, true and cc - The Applicant unde Certificate (or to wh of any inaccuracy, or - The Applicant will n truth, accuracy and - In consideration for harmless GIC from a respect of any costs	Intry(ies) to those goods. his certificate and in any documents provi mplete. rtakes to advise GIC and any other person on the Certificate is provided to with the k nission or change in such information, or naintain, and present upon request, such d completeness of this certificate and accor the GIC's issuance of this Certificate, the	cified above and comply with the rules of or ded to the Greater Irvine Chamber ("GIC") is (s) to whom the applicant provides this nowledge of the Applicant) promptly in writi n the origin of goods. ocumentation as is necessary to verify the npanying documents. Applicant agrees to release, discharge and h of this certificate and to indemnify GIC in ction herewith.		



	VERIFY.FIGS.US Date: January 14, 2025					
Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel		Port of Loading LOS ANGELES Destination Port TianjinXingang			
Irvine CA USA	Destination Country China					
Consignee	Export Date 2024-12-10	Exporting Ca N/A	arrier			
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permit Number N/A	Bill of Ladin 401410722				
INNER MONGOLIA, 011500 China	Owner or Agent N/A	Forwarding N/A	Agent			
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1,560bales Total: 660.896mt					
Description (May include notes on Quantity, Item Number, Marks and Numb	ers, Kind of Packages.)	Weight	Country of Origin			
Alfalfa Hay		22.199mt	United States			
Marks: EITU9303249 52bales Alfalfa Hay Marks: GAOU6951158 52bales		21.963mt	United States			
Alfalfa Hay Marks: TGBU4428332 52bales		21.9mt	United States			
Alfalfa Hay Marks: CAAU5995669 52bales		21.9mt	United States			
Alfalfa Hay Marks: EMCU8446505 52bales		21.881mt	United States			
Alfalfa Hay Marks: TIIU4254203 52bales		21.509mt	United States			
Alfalfa Hay Marks: TXGU7247705 52bales		21.083mt	United States			
Name of Authorized Trade Association	- The above-mentione applicable in the coun - The information in th accurate, true and cor - The Applicant undert - Certificate (or to whor of any inaccuracy, om - The Applicant will ma truth, accuracy and co - In consideration for th harmless GIC from an respect of any costs a	try(ies) to those goods. is certificate and in any documents provic pplete. akes to advise GIC and any other person(m the Certificate is provided to with the kr ission or change in such information, or ir aintain, and present upon request, such do pmpleteness of this Certificate and accom the GIC's issuance of this Certificate, the A	ified above and comply with the rules of or led to the Greater Irvine Chamber ("GIC") is s) to whom the applicant provides this is overledge of the Applicant) promptly in writi the origin of goods. cumentation as is necessary to verify the panying documents. pplicant agrees to release, discharge and h of this certificate and to indemnify GIC in tion herewith.			



Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Typ Vessel	De la	Port of Lo LOS ANG		
Irvine CA USA	Destination C China	country	Destinatio TianjinXi		
Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD	Export Date 2024-12-10		Exporting N/A	Exporting Carrier N/A	
HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500	Import Permi N/A	t Number	Bill of Lad 4014107	ding / AWB 22230	
China	Owner or Age N/A	ent	Forwardin N/A	ig Agent	
Buyer (Importer) INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Remarks Total: 1,560bales Total: 660.896mt				
Description (May include notes on Quantity, Item Number, Marks and Numbers, H	Kind of Package	s.)	Weight	Country of Origin	
Alfalfa Hay Marks: GCXU6363520 52bales			22.489mt	United States	
Alfalfa Hay			21.8mt	United States	
Marks: TRHU8360912 52bales					
end of products					
Name of Authorized Trade Association	The above-mentioned goods origin applicable in the country(ies) to the The information in this certificate a accurate, true and complete. The Applicant undertakes to advisis Certificate (or to whom the Certificator of any inaccuracy, omission or char The Applicant will maintain, and pr truth, accuracy and completeness of In consideration for the GICs issues	nate in the country(ies) s se goods. and in any documents pro- e GIC and any other perso ate is provided to with the age in such information, or esent upon request, such of this certificate and acc nee of this Certificate, th ponnection with the issuar made against GIC in con-	n documentation as is necessary to verify the companying documents. he Applicant agrees to release, discharge and hold nee of this certificate and to indemnify GIC in nection herewith.		

Booking Document - HayCloud.com

Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
Price Terms:	CIF					
ETD:	12/10/24			ETA:	2/15/25	
Port of Loading:	LOS ANGELE	S, CA		Discharge:	TianjinXingang, China	
Shipping Line:	Evergreen			Country of Origin:	USA	
Voyage No.:	1381-030W			Booking No.:	401410722230	
Vessel:	EVER FRONT			Contract No.:	BH-HGLC2024-7	
1152 S Roughcut D Casa Grande, AZ 85	r			HUTONGTU VILLAGE SHENGLE TOWN, HELINGEER COUNTY INNER MONGOLIA	<u>,</u>	
Shipper/Exporter: Healthy Green Life				Consignee:	BEST HOLSTEINS CO.,LTD	
					Date:	10/17/24
COMMERCI		CE			Invoice No.	BH-202501001

Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
CAAU5406780	02857009	Alfalfa Supremi	52	21.881	\$395.00	\$8,643.00
CAAU5995669	02857053	Alfalfa Supremi	52	21.900	\$395.00	\$8,650.50
EGHU9273863	A1620132	Alfalfa Supremi	52	22.408	\$395.00	\$8,851.16
EGHU9389597	02857098	Alfalfa Supremi	52	22.562	\$395.00	\$8,911.99
EGHU9854488	02857073	Alfalfa Supremi	52	21.818	\$395.00	\$8,618.11
EISU8279782	A1620521	Alfalfa Supremi	52	21.283	\$395.00	\$8,406.78
EITU9246690	02857100	Alfalfa Supremi	52	22.226	\$395.00	\$8,779.27
EITU9288150	A1620133	Alfalfa Supremi	52	21.627	\$395.00	\$8,542.66
EITU9303249	02857006	Alfalfa Supremi	52	22.199	\$395.00	\$8,768.61
EITU9424976	A1620524	Alfalfa Supremi	52	22.344	\$395.00	\$8,825.88
EMCU1595683	02857003	Alfalfa Supremi	52	21.156	\$395.00	\$8,356.62
EMCU8446505	02857056	Alfalfa Supremi	52	21.881	\$395.00	\$8,643.00
EMCU8676215	A1620082	Alfalfa Supremi	52	22.235	\$395.00	\$8,782.82
EMCU8937535	02857096	Alfalfa Supremi	52	22.825	\$395.00	\$9,015.88
EMCU8963853	02857092	Alfalfa Supremi	52	22.934	\$395.00	\$9,058.93
FSCU7120270	02857002	Alfalfa Supremi	52	22.145	\$395.00	\$8,747.27
GAOU6253687	A1620529	Alfalfa Supremi	52	22.017	\$395.00	\$8,696.72
GAOU6951158	02857001	Alfalfa Supremi	52	21.963	\$395.00	\$8,675.39
GCXU6363520	02857052	Alfalfa Supremi	52	22.489	\$395.00	\$8,883.16
TCKU6099416	02857074	Alfalfa Supremi	52	21.999	\$395.00	\$8,689.60
TGBU4428332	A1620522	Alfalfa Supremi	52	21.900	\$395.00	\$8,650.50
TGBU7747523	02857093	Alfalfa Supremi	52	22.335	\$395.00	\$8,822.33
TIIU4254203	02857181	Alfalfa Supremi	52	21.509	\$395.00	\$8,496.06
TRHU5112701	A1620528	Alfalfa Supremi	52	21.999	\$395.00	\$8,689.60
TRHU5648660	02857077	Alfalfa Supremi	52	22.017	\$395.00	\$8,696.72
TRHU6985881	028570 78	Alfalfa Supremi	52	22.008	\$395.00	\$8,693.16
ĨŔHU8360912	02857197	Alfalfa Supremi	52	21.800	\$395.00	\$8,611.00
TXGU5793121	02857097	Attalfa Supremi	52	22.689	\$395.00	\$8,962.16

https://www.haycloud.com/popups/popdoc.aspx?action=new&mode=view&from=booking&bookingid=83813&ran=111142

Booking Document - HayCloud.com

TXGU7247705	02857200	Alfalfa Supremi	52	21.083	\$395.00	\$8,327.78
TXGU7390300	A1620525	Alfalfa Supremi	52	21.664	\$395.00	\$8,557.28
Total Value:			1,560	660.896		\$261,053.94

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By Healthy Green Life Corporation

AUTHORIZED SIGNATURE



2025

